

BID BULLETIN 01

Date: 11 March 2022

Project Title:Supply and Delivery of Office and Janitorial Supplies and Other General
Merchandise Products (GOODS-22-19)Location:VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

Legal Documents	
1	PhilGEPS Certificate of Registration (Platinum)
	or
	a. Registration Certificate (SEC, DTI or CDA)
	b. Mayor's/Business Permit
	c. Tax Clearance
Technical Documents	
2	Statement of All On-Going Government & Private Contracts
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 216,977.00)
	Or
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 216,977.00 and the largest of which should be at least PhP 108,488.50 .
4	Bid Security
5	Technical Specifications
6	SCHEDULE of Requirements/Production and delivery schedule
7	Manpower Requirements
8	After Sales service/parts from acceptance of delivered goods (at least 3 months for supplies)
9	Original Duly Signed Omnibus Sworn Statement
Financial Documents	
10	The Supplier's Audited Financial Statements
11	Net Financial Contracting Capacity (at least Php 867,908.00)
	Or
	Committed Line of Credit (at least Php 86,790.80)
(2 nd Envelope) FINANCIA	AL COMPONENT ENVELOPE
12	Original of duly signed and accomplished Financial Bid Form
13	Original of duly signed and accomplished Price Schedule(s)



Please take note:

In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" <u>against</u> <u>each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, postqualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or **GCC** Clause 2.1 (a)(ii).

II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Convert all documents into Portable Document Format (PDF) and should be printable.
- 2. Properly label all documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Registration Certificate (SEC/DTI)	Registration Certificate
3.	Mayor's/Business Permit	Mayor's-Business Permit
4.	Tax Clearance	Tax Clearance
5.	Statement of On-Going Government & Private Contracts	Statement of On-Going Contracts
6.	Statement of Bidder's Single Largest Completed Contract	SLCC
7.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
8.	Bid Security	Bid Security
9.	Technical Specifications	Technical Specifications
10.	SCHEDULE of Requirements/Production and delivery schedule	Schedule of Requirements
11.	Manpower Requirements	Manpower Requirements
12.	After Sales service/parts	After Sales
13.	Omnibus Sworn Statement	Omnibus Sworn Statement
14.	Audited Financial Statements	Audited Financial Statements
15.	Net Financial Contracting Capacity	NFCC
16.	Committed Line of Credit	CLC
17.	Bid Form	Bid Form
18.	Price Schedule	Price Schedule

3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.



The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at jessamine.ecleo@vsu.edu.ph_before the deadline.

III. Changes in the Bidding Documents

Original	
Section I. Invitation to Bid	(Amendment)
6. A complete set of Bidding Documents may be acquired by interested Bidders on 28 February – 21 March 2022 until 1:30 PM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of One Thousand Pesos (PhP 1,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	A complete set of Bidding Documents may be acquired by interested Bidders on 28 February – 21 March 2022 until 1:30 PM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of One Thousand Pesos (PhP 1,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means. The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details: Account Name: Visayas State University Fund 164 Account Number: <u>3572-1000-13</u> Then send the deposit slip to <u>jessamine.ecleo@vsu.edu.ph</u>
Section I. Invitation to Bid	(Additional Instructions)
15. Sealing and Marking of Bids	Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.
	For filing purposes, the bidders are urged to use Light Green envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.



IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

ltem No.	Description	Unit	Qty	ABC/Unit	Total ABC
1	155L, PLASTIC STORAGE BOX	pieces	2	1,700.00	3,400.00
	■Storage: 155L				
	Material: Plastic				
2	4 Layer File Tray (Office Organizer)	unit	1	300.00	300.00
	■Folder Storage Box				
	Date Document Storage Shelf				
	Product Color: Black				
	Product Description:				
	▲All Metal material				
	Firm				
	▲Durable				
	Easy to assemble				
	Not easy to shake				
	Hollow out design				
	Ventilated and Dry				
	Not easy to accumulate dust				
3	7 in 1 set Office Supplies Organizer	unit	1	300.00	300.00
	Packing: 1 X 1pc storage rack				
	■Color: black				
	■Size: 22cm x 14cm x 12.7cm				
	Material: stainless steel + metal mesh				
	Design: 7in1 metal grid with drawer				
	Suitable for: pens, school supplies, cosmetics, remote control, etc.				
	■Features:				
	1. With classification, finishing functions				
	2. Simple and Beautiful				
	3. Suitable for Offices, Schools, Factories, etc.				
	4. Large Capacity				
	5. Multi-functional				
	6. Can Put Pens, Cards, etc.				
4	AAA battery charger Compact Charger	рс	1	200.00	200.00
	Pre-Charged Batteries ready to use				
	Charges AA or AAA batteries				
	Alkaline battery detection and auto shut off safety controls				
	Compact design				
	Fold away outlet plugs				
5	Acetate, transparent, guage #3, approx. 50m/roll	rolls	1	880.00	880.00
6	Acetate, transparent, guage #6, approx. 50m/roll	rolls	1	1,525.00	1,525.00
7	Air Freshener, Scented Gel, at least 180g, Lemon/Orange Scent	pcs	12	192.00	2,304.00
8	Alcohol, Ethyl, 70% solution, 1 gallon	gallons	12	600.00	7,200.00



9	Bathroom Deodorizer, with holder, at least 100g, any scent	pcs	32	75.00	2,400.00
10	Battery, Alkaline, Size: AA, Nominal Voltage: 1.5 volts, 2 pcs/pack	pack	60	115.00	6,900.00
11	Battery, Rechargeable, 9 volts	pcs	3	600.00	1,800.00
12	Battery, Rechargeable, Nickel-Metal Hydride, Size: AA, 2 pcs/pack	pack	10	785.00	7,850.00
13	Battery, Rechargeable, Nickel-Metal Hydride, Size: AAA, 2 pcs/pack	pack	15	785.00	11,775.00
14	Binder Clip, 2", black	pcs	124	8.50	1,054.00
15	Bleach, Liquid, 99.9% Antibacterial, Disinfectant, at least 3785 mL	gallon	7	450.00	3,150.00
16	Book Cloth, Green, approx. 50m/roll	rolls	1	20,000.00	20,000.00
17	Broom, Plastic, with long steel handle (approx. 140cm), for ceiling	pcs	2	420.00	840.00
18	Broom, Soft (Tambo), Large, Heavy Duty	pcs	12	250.00	3,000.00
19	Broom, Stick Broom, Tukog	рс	10	35.00	350.00
	Good Quality Broom Stick				
	Approx. 370pcs per stick bundle				
20	Cable Tie, 8", 100 pcs/pack	packs	10	110.00	1,100.00
	2.5 x 200mm (Width x length)				
21	Calculator, scientific ,10+2 digits, 2 line display, at least 240 functions	unit	2	700.00	1,400.00
22	Cartolina, US, Gold, at least 160gsm	pcs	120	14.00	1,680.00
23	Cartolina, US, Green, at least 160gsm	pcs	20	14.00	280.00
24	Cartolina, US, Light Blue, at least 160gsm	pcs	10	14.00	140.00
25	Cartolina, US, Neon Green, at least 160gsm	pcs	20	14.00	280.00
26	Cartolina, US, Red, at least 160gsm	pcs	15	14.00	210.00
27	Cartolina, US, White, at least 160gsm	pcs	200	14.00	2,800.00
28	Cartolina, Vellum, White, at least 180gsm	pcs	1010	35.00	35,350.00
29 30	Chlorine Granules, 1kg/pack Class Record, (for College use)	packs	15	85.00	1,275.00
	Class Record, (for College use) Cleaner, Glass, 500mL, spray type, any	pcs	20	40.00	800.00
31	scent	btls	16	198.00	3,168.00
32	Cleanser, Powder, 500g, any scent	btls	15	76.00	1,140.00
33	Clip Board, Plastic, with PVC Cover, A4, any color	pcs	3	198.00	594.00
34	Clip Board, Plastic, with PVC Cover, Long, any color	pcs	3	222.00	666.00
35	Clip, Double Binder, 1-1/4" (approx. 32mm), Black, 12 pcs/box	boxes	5	28.00	140.00
36	Clip, Double Binder, 1-5/8" (approx. 41mm), Black, 12 pcs/box	boxes	9	46.00	414.00
37	Clip, Double Binder, 2" (approx. 51mm) , Black, 12 pcs/box	boxes	18	70.00	1,260.00
38	Clip, Metal Bulldog, 1-1/2" (approx. 38.1mm), 12 pcs/box	boxes	8	55.00	440.00
39	Clip, Metal Bulldog, 2" (approx. 50.8mm), 12 pcs/box	boxes	5	76.00	380.00
40	Clip, Metal Bulldog, 2-1/2" (approx. 63.5mm), 12 pcs/box	boxes	7	143.00	1,001.00
41	Clip, Paper, Big, Plastic Coated, 100pcs/box, (55mm) 120 grms	box	40	30.00	1,200.00



42	Cork Board, Wall Mount, w/ aluminum frame, 3' x 5'	pcs	1	1,950.00	1,950.00
43	Cotton, 400g	packs	10	300.00	3,000.00
44	Datafiler	рс	5	250.00	1,250.00
	■23cm H x 14cm W x 44cm D				
45	Disinfectant Spray, 170g	can	15	280.00	4,200.00
46	Disinfectant Spray, 340g	can	12	465.00	5,580.00
	Dust Bin (Trash Bin), durable plastic, w/				
47	swing-type cover, approx. 50L capacity	pcs	3	520.00	1,560.00
48	Dust pan, plastic, stand-up handle, large	рс	10	140.00	1,400.00
49	Duster, Feather	pcs	13	56.00	728.00
50	Envelope, Brown, long, good quality	pcs	50	5.00	250.00
51	Envelope, Document, Brown, 150 lbs, Long	pc	133	7.00	931.00
52	Envelope, Document, Brown, 150 lbs, Short	pc	1300	5.00	6,500.00
50	Envelope, Expanding, Plastic, Long, with				
53	Handle	pcs	6	100.00	600.00
54	Envelope, Expanding, with garter tie, blue,	рс	50	15.00	750.00
v −r	long	P.2		10.00	100.00
55	Envelope, Expanding, with garter tie, blue, short	рс	13	11.00	143.00
56	Envelope, Expanding, with garter tie, brown, long	рс	10	15.00	150.00
57	Envelope, Expanding, with garter tie, green, long	рс	55	15.00	825.00
58	Envelope, Mailing, white, long, 500pcs/box	box	3	395.00	1,185.00
59	EPSON INK btl 664 black	btl	10	500.00	5,000.00
60	Epson ink btl magenta	btl	5	400.00	2,000.00
61	Fabric Conditioner, 1L, any scent	btls	8	415.00	3,320.00
-	Fabric Conditioner, Antibacterial, Refill, 1.5L,	013	0	410.00	3,320.00
62	any scent	pack	5	330.00	1,650.00
63	Face Mask, Surgical, Disposable, 3-ply, 50 pcs/box	boxes	15	300.00	4,500.00
64	Face Mask, Surgical, Disposable, 3-ply, 50 pcs/box	boxes	2	150.00	300.00
65	Fastener, Paper, non-rust metal, 50 sets/box	boxes	12	50.00	600.00
66	Fastener, Paper, plastic, 50 sets/box	boxes	30	38.00	1,140.00
67	File Organizer (Accordion), Expanding, w/ 13	pieces	12	368.00	4,416.00
•	inside pockets & index tabs, Legal	p.0000			.,
68	Flashlight, heavy duty, w/ chargeable battery, 3 battery capacity, 1.5 v D type	pcs	1	2,625.00	2,625.00
69	Floor Mop	pieces	11	250.00	2,750.00
	plastic, with handle, heavy duty				,
70	Floor mop with bucket, microfiber spin rotating 360	рс	1	1,500.00	1,500.00
71	Floor Mop with wooden handle, heavy duty	pcs	3	240.00	720.00
	Florist Wire / Floral Wires, plastic coated,				
72	guage 20, 40cm length, 50 pcs/set	sets	11	68.00	748.00
73	Foil, Aluminum, 16m x 30cm (approx. 260g)	boxes	4	290.00	1,160.00
74	Folder, Expanded, Long (Light Blue)	pcs	660	20.00	13,200.00
			77	30.00	2,310.00
75	Folder, Expanded, Long (Red)	piece			
		piece piece	705	10.00	7,050.00
75	Folder, Expanded, Long (Red) Folder, File, Long, 14pts, White				7,050.00 96.00
75 76	Folder, Expanded, Long (Red)	piece	705	10.00	,



		1			
80	Folder, Pressboard, US, Blue, Short	piece	25	29.00	725.00
81	Folder, Pressboard, US, Green, Long	pcs	210	30.00	6,300.00
82	Folder, Pressboard, US, Green, Short	pcs	50	29.00	1,450.00
83	Folder, Sliding, Plastic, w/ binder, Long, transparent	pcs	125	10.00	1,250.00
84	Folder, Sliding, Plastic, w/ binder, Short, transparent	pcs	12	9.00	108.00
85	Gel Ink Sign Pen 0.5, blue	pcs	27	25.00	675.00
86	Glue, Multi-Purpose, White, at least 130g (118mL)	btls	29	78.00	2,262.00
87	Hand Sprayer, plastic, 150 ml cap.	pieces	2	100.00	200.00
88	Hand Towel, cloth, cotton	piece	10	35.00	350.00
89	Hand Towel, cloth, cotton, 12 pcs/pack	piece	1	258.00	258.00
90	ID Jacket, plastic, vertical, 9cm x 5.5cm, w/ clip (50pcs/box)	box	1	1,250.00	1,250.00
91	Index Tab, PVC self adhesive 6" x 1", 25pcs/box	box	2	780.00	1,560.00
92	Index Tab, PVC self adhesive 6" x 1/2", 25packs/box, Clear	box	3	850.00	2,550.00
	Transparent Extension: 1/2"				
	Color: Clear (no color)				
	I box contains 25 packs.				
	■1 pack contains 2 pcs.				
93	Index Tab, transparent, self-adhesive, transparent, 5sets of alphabet /box	boxes	2	325.00	650.00
94	Ink, for stamp pad, violet, 30mL, w/ applicator	btls	2	35.00	70.00
95	Ink, Refill, for Permanent Marker, Black, 30mL	btls	4	115.00	460.00
96	Ink, Refill, for Permanent Marker, Blue, 30mL	btls	1	115.00	115.00
97	Laminating Film, A4, 100 shts/box, 250 microns	box	2	1,430.00	2,860.00
98	Lever Arch File Folder, Vertical, with Ring Binder & Side Metal Finger Pull, Size: 3", Long (Blue)	piece	65	140.00	9,100.00
99	Liquid Hand Soap	gallon	5	350.00	1,750.00
100	Magazine Box / Data File Box / Datafiler, horizontal, made of chipboards, closed ends, Legal (Double)	pcs	215	195.00	41,925.00
101	Magazine Box / Data File Box / Datafiler, horizontal, made of chipboards, closed ends, Legal (Single)	pcs	42	100.00	4,200.00
102	Masking Tape, 1"	rolls	12	60.00	720.00
103	Mop Handle, Plastic	pieces	7	145.00	1,015.00
104	Mop Rug, Heavy Duty, 100% cotton	pieces	5	90.00	450.00
105	Morocco board, A4, 100pcs/ream, 230 gsm, for cover,green	ream	1	450.00	450.00
106	Mouse Pad, Rubber	pad	1	250.00	250.00
	■Size: Small (200x250mm)				
	Color: Black/ Dark Blue				
107	Multi-Insect Killer Spray, 250mL	tubes	5	200.00	1,000.00
108	Multi-Purpose Glue, 1000g	btl	4	450.00	1,800.00
109	Multi-Purpose Glue, 130 g	btl	5	60.00	300.00
110	Muriatic Acid concentrated scented	gal	3	350.00	1,050.00



			[]		
111	My-Gel Gel Ink Pen refill 0.5mm, Blue	piece	8	25.00	200.00
112	Net bags, fish net, 13" x 13"	рс	500	19.00	9,500.00
113	Note Pad, 3" x 3", post-it, assorted colors	pads	15	35.00	525.00
114	Notebook, Spiral 60 leaves	pcs	300	23.00	6,900.00
115	Notebook, spiral, 80 leaves	pieces	200	26.00	5,200.00
116	Nylon, #300, for grass cutter	kl	9	450.00	4,050.00
117	Oil, for typewriter, all purpose, 130 ml	btls	2	180.00	360.00
118	Pail, Plastic, 10 li cap.	pieces	5	200.00	1,000.00
119	Pail, Utility, Plastic, at least 16L capacity	pcs	3	250.00	750.00
	Paper Bag, Plain Brown, Large #10, at least	· ·			
120	50 pcs. per pack	pack	5	150.00	750.00
121	Paper, Bond, A3, S-24, 80 gsm	reams	10	580.00	5,800.00
	bright white, high premium quality;		-		
122	Paper, Bond, Long, S-20, 70 gsm	reams	50	286.00	14,300.00
	bright white, high premium quality;				,
123	Paper, Bond, Long, S-24, 80 gsm	reams	73	328.00	23,944.00
120	bright white, high premium quality;	Tourns	10	020.00	20,044.00
124	Paper, Bond, Short, S-20, 70 gsm	reams	10	245.00	2,450.00
124	bright white, high premium quality;	1001115	10	240.00	2,400.00
105	Paper, Felt, 27" x 21", Red	niocco	10	15.00	150.00
125 126	Paper, Feit, 27 x 21 x, Red Paper, Manila	pieces	10	15.00	150.00
	•	pcs	50	6.00	300.00
127	Paper, Mimeo, GW, Long, S-18	reams	5	190.00	950.00
128	Paper, Photo, high gloss, A4, 230G, 20 shts/pack	pack	5	250.00	1,250.00
129	Paper, Photo, Waterproof Glossy Inkjet , A4, 230 GSM No Backprint, 20 shts/pack	pack	32	60.00	1,920.00
	No Backprint				
	Size: A4 230GSM (210x297mm)				
	Paper Texture: Waterproof Glossy				
	For all type of inkjets printer				
	Sor printing all kinds of colorful documents				
	Support 720 / 1440 / 2880 and 5760 dpi				
	printing mode				
	©20 sheets per pack				
130	Paper, Specialty 200gsm 8-1/2x11, 10s,	packs	155	38.00	5,890.00
-	Cream Posto colid w/water well & applicator	-			,
131	Paste, solid, w/ water well & applicator, 200gms	btls	5	50.00	250.00
132	Pasteboard, #40, 26" x 38" (standard size)	sheets	128	70.00	8,960.00
132	Pen, Permanent Marker, black, broad tip	pieces	2	60.00	120.00
133	Pen, Permanent Marker, black, fine tip	pieces	24	60.00	1,440.00
134	Pen, Permanent Marker, blue, broad tip	pieces	24	60.00	120.00
135	Pen, Permanent Marker, blue, fine tip	pieces	22		1,320.00
	Pen, Permanent Marker, red, fine tip	+ ·		60.00	,
137		pieces	12	60.00	720.00
138	Pen, Ball, black	pieces	93	10.00	930.00
139	Pen, Ball, blue	pieces	903	10.00	9,030.00
140	Pen, Ball, red	pieces	120	10.00	1,200.00
141	Pen, Sign, .5mm, Gel-type, Blue	piece	81	35.00	2,835.00
142	Pen, Whiteboard Marker, red	pieces	29	50.00	1,450.00
143	Pen, Whiteboard Marker, black	pieces	55	50.00	2,750.00
144	Pen, Whiteboard Marker, blue,	pieces	15	50.00	750.00
145	PENCIL #2 MEDIUM YELLOW 12/BOX	Box of 12's	5	120.00	600.00
	■Attr: Pencil Medium #2 with black lead	-			
		I			





	■Color: Yellow				
	Packaging Size: 12 pencils per box				
146	Pencil, Lead, #2, w/ eraser	pieces	661	10.00	6,610.00
147	Pin, Push, hammerhead type, asstd colors 50s/pack	boxes	15	35.00	525.00
148	Plastic bag (sando bag) 100pcs/pack large	pack	1	95.00	95.00
149	Plastic Twine, 1kl/roll	rolls	1	110.00	110.00
150	Polyethylene Bag, autoclavable, 10" x 16" x .002	kgs	10	200.00	2,000.00
151	Polyethylene Bag, autoclavable, 3" x 10" x .002	kgs	10	200.00	2,000.00
152	Polyethylene Bag, autoclavable, 8" x 12" x .002	kgs	10	200.00	2,000.00
153	Puncher, Heavy Duty	pieces	3	450.00	1,350.00
154	PVC Binding Cover, short, 100pcs/pack	pack	1	550.00	550.00
155	PVC Plastic Cover 100pcs per Pack A4 size 0.2mm	packs	4	750.00	3,000.00
156	PVC Plastic Cover, A4, 300micron	pack	1	850.00	850.00
157	Rags, large, good quality, size 24"x15", water absorbent	pcs	6	40.00	240.00
158	Ready-Made Curtain (RMC), Cream color	рс	15	450.00	6,750.00
	Dimension: 60"x84"				
	■Color: Cream/Beige				
	Fabric Material: Synthetic Fabric or any light material which allows air and light to pass through				
	Design: Plain, most importantly NO Flowers and Lace				
159	Record Book, Big, 300 pages	pcs	28	80.00	2,240.00
160	Record Book, Big, 500 pages	pcs	37	115.00	4,255.00
161	Ring Binder, plastic, 10mm, 3/8" black	pieces	19	10.00	190.00
162	Ring Binder, plastic, 14mm, 9/16" black	pieces	7	15.00	105.00
163	Ring Binder, plastic, 20mm, 3/4" black	pieces	13	22.00	286.00
164	Ring Binder, plastic, 22mm, 7/8" black	pieces	15	27.00	405.00
165	Ring Binder, plastic, 25mm ,1" black	pieces	40	30.00	1,200.00
166	Ring Binder, plastic, 8mm, 5/16" black	pieces	12	8.00	96.00
167	Ring Binder, plastic,12mm, 1/2" black	pieces	40	12.00	480.00
168	Ring Binder, plastic,14mm, 5/8" black	pieces	5	18.00	90.00
169	Rubber Mat	meter	3	175.00	525.00
	Material: PVC				
	■Size (W x L): 30 x 150 cm or 11.81 x 59.05 inches				
	■One (1) roll non-slip mat				
170	Rubberband, #18, 350 gms/box	boxes	12	270.00	3,240.00
171	Ruler, Plastic, 24"	pieces	10	35.00	350.00
172	Safety Deposit Box	unit	1	10,000.00	10,000.00
	Digital safe	Grint		10,000100	10,000100
	Stainless steel				
	■ Size: 35 x 25 x 25 cm				
	Mountable to wall or floor				
	Best for home, office and hotel use				
	Override keys available				
173	Scissors, 6" heavy duty, good quality	piece	3	68.00	204.00
	Scissors, 8" heavy duty, good quality	1	-		





Size:176SharpeTableTable177Sign p177Sign p178Sign p179Slide E180Soap,181Soap,182Soap,183Soap,184Soap,185Soft Biduty186Specia187Staple188Staple189Staple191Staple192Staple193Stick Eapprox194Sticky <t< th=""><th>pen, 0.5mm ball needle point, Blue , Liquid Gel Ink pen, Fine Tech, 0.3mm. blue Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any t , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size pates at least 99% of bacteria</th><th>pcs pieces pieces box gal kl btls btls</th><th>10 7 86 17 4 4 20 32</th><th>60.00 350.00 90.00 30.00 300.00 350.00 105.00</th><th>600.00 2,450.00 7,740.00 510.00 1,200.00 1,400.00</th></t<>	pen, 0.5mm ball needle point, Blue , Liquid Gel Ink pen, Fine Tech, 0.3mm. blue Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any t , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size pates at least 99% of bacteria	pcs pieces pieces box gal kl btls btls	10 7 86 17 4 4 20 32	60.00 350.00 90.00 30.00 300.00 350.00 105.00	600.00 2,450.00 7,740.00 510.00 1,200.00 1,400.00
176Sharpe TableTableTable177Sign p color,178Sign p color,178Sign p 179179Slide E 180180Soap, scent181Soap, scent182Soap, scent183Soap, scent184Soap, scent185Soft Bi duty186Specia duty187Soft Bi duty188Staple (1/4")190Staple191Staple192Staple193Stick E approx194Sticky Ølndex©Highli Ølndex©Cone e ØCan k signatu	pener, Pencil Heavy Duty good qlty <i>a Type</i> pen, 0.5mm ball needle point, Blue , Liquid Gel Ink pen, Fine Tech, 0.3mm. blue Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any t , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml <i>b type</i> , Toilet, regular size sat 60 grams pates at least 99% of bacteria	pieces pieces box gal kl btls btls	86 17 4 4 20 32	90.00 30.00 300.00 350.00	7,740.00 510.00 1,200.00
Table177Sign p color,178Sign p color,178Sign p 179179Slide E 180180Soap,181Soap, scent182Soap, scent183Soap, pump t184Soap, at lease elimina185Soft B duty186Specia duty187Soft B duty188Staple (1/4")190Staple191Staple192Staple193Stick E approx194Sticky Sticky ©Index©Can k signatu	pen, 0.5mm ball needle point, Blue , Liquid Gel Ink pen, Fine Tech, 0.3mm. blue Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any t , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size pates at least 99% of bacteria	pieces pieces box gal kl btls btls	86 17 4 4 20 32	90.00 30.00 300.00 350.00	7,740.00 510.00 1,200.00
177Sign p color,178Sign p color,178Sign p 179179Slide E 180180Soap,181Soap, scent182Soap, scent183Soap, pump t184Soap, pump t184Soap, at lease duty185Soft Br duty186Specia duty187Spin M w/ dura handle 180deg188Staple (1/4")190Staple (1/4")191Staple approx193Stick E approx194Sticky Ølndex194Sticky Ølndex195Sticky Ølndex196Sticky Ølndex197Sticky Ølndex198Sticky Ølndex199Sticky Ølndex194Sticky Ølndex195Sticky Ølndex196Sticky Ølndex197Sticky Ølndex198Sticky Ølndex199Sticky Ølndex194Sticky Ølndex195Sticky Ølndex196Sticky Ølndex197Sticky Ølndex198Sticky Ølndex199Sticky Ølndex190Sticky Ølndex191Sticky Ølndex193Sticky Ølndex194Sticky Ølndex195Sticky Ølndex196Sticky Ølndex197Sticky Ølndex1	pen, 0.5mm ball needle point, Blue , Liquid Gel Ink pen, Fine Tech, 0.3mm. blue Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any t , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size pates at least 99% of bacteria	pieces box gal kl btls btls	17 4 4 20 32	30.00 300.00 350.00	510.00 1,200.00
177color,178Sign p179Slide E180Soap,181Soap,182Soap,183Soap,183Soap,184Soap,185at leaseelimina185Soft Biduty186Specia187Soft Bi188Staple189Staple191Staple192Staple193Stick Eapprox194StickyIndexImage: SignatureImage: Signature <t< th=""><th>, Liquid Gel Ink pen, Fine Tech, 0.3mm. blue Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size est 60 grams pates at least 99% of bacteria</th><th>pieces box gal kl btls btls</th><th>17 4 4 20 32</th><th>30.00 300.00 350.00</th><th>510.00 1,200.00</th></t<>	, Liquid Gel Ink pen, Fine Tech, 0.3mm. blue Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size est 60 grams pates at least 99% of bacteria	pieces box gal kl btls btls	17 4 4 20 32	30.00 300.00 350.00	510.00 1,200.00
179Slide E180Soap,181Soap,181Soap,182Soap,183Soap,183Soap,184Soap,184Soap,185at leaseelimina185Soft Biduty186Specia187Spin M188Staple189Staple191Staple192Staple193Stick Eapprox194StickyIndexImage: Can kImage: Can k <tr< th=""><th>Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any t , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size ost 60 grams mates at least 99% of bacteria</th><th>box gal kl btls btls</th><th>4 4 20 32</th><th>300.00 350.00</th><th>1,200.00</th></tr<>	Box (50 divisions) , Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any t , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size ost 60 grams mates at least 99% of bacteria	box gal kl btls btls	4 4 20 32	300.00 350.00	1,200.00
180Soap, scent181Soap, scent182Soap, scent182Soap, pump t183Soap, pump t184Soap, at lease elimina185Soft Br duty186Specia187Soft Br duty186Specia187Staple (1/4")190Staple191Staple192Staple193Stick F approx194Sticky (Marki (Dindex)195Sticky194Sticky (Dindex)195Sticky (Dindex)196Sticky (Dindex)197Sticky (Dindex)198Sticky (Dindex)194Sticky (Dindex)195Sticky (Dindex)196Sticky (Dindex)197Sticky (Dindex)198Sticky (Dindex)199Sticky (Dindex)194Sticky (Dindex)195Sticky (Dindex)196Sticky (Dindex)197Sticky (Dindex)198Sticky (Dindex)199Sticky (Dindex)190Sticky (Dindex)191Sticky (Dindex)193Sticky (Dindex)194Sticky (Dindex)195Sticky (Dindex)196Sticky (Dindex)197Sticky (Dindex)198Sticky (Dindex)199Sticky (Dindex)199 <th>, Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size pates at least 99% of bacteria</th> <th>gal kl btls btls</th> <th>4 20 32</th> <th>350.00</th> <th></th>	, Detergent, Liquid, 1 gal, any scent , Detergent, Powder, 1 kilo/pack, any , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size pates at least 99% of bacteria	gal kl btls btls	4 20 32	350.00	
181Soap, scent182Soap, scent182Soap, pump t183Soap, pump t184Soap, at lease elimina185Soft Bi duty186Specia duty187Soft Bi duty188Staple (1/4")189Staple (1/4")190Staple (1/4")191Staple approx193Stick Bi approx194Sticky (1/4x)195Sticky (1/4x)196Sticky (1/4x)197Sticky (1/4x)198Sticky (1/4x)199Staple (1/4x)191Staple (1/4x)192Staple (1/4x)193Stick Bi (1/4x)194Sticky (1/4x)195Sticky (1/4x)196Sticky (1/4x)197Sticky (1/4x)198Sticky (1/4x)199Sticky (1/4x)193Sticky (1/4x)194Sticky (1/4x)195Sticky (1/4x)196Sticky (1/4x)197Sticky (1/4x)198Sticky (1/4x)199Sticky (1/4x)194Sticky (1/4x)195Sticky (1/4x)196Sticky (1/4x)197Sticky (1/4x)198Sticky (1/4x)199Sticky (1/4x)199Sticky (1/4x)199Sticky (1/4x)19	, Detergent, Powder, 1 kilo/pack, any , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size st 60 grams hates at least 99% of bacteria	kl btls btls	20 32		1,400.00
181scent182Soap,183Soap,pump t183Soap,at leaseelimina185Soft Biduty186Specia187Spin M188Staple189Staple191Staple192Staple193Stick Eapprox194StickyImage: StapleImage: StickyImage: StickyImag	t , Dishwashing, Liquid, 250mL , hand, liquid, 250 ml o type , Toilet, regular size ost 60 grams mates at least 99% of bacteria	btls btls	32	105.00	,
183Soap, pump t184Soap, at least elimina184Soap, at least elimina185Soft Br duty186Specia187Spin M w/ dura handle 180deg188Staple (1/4")190Staple (1/4")191Staple approx192Staple approx193Stick F approx194Sticky Ølndex Ølndex©Cne e ØCan k signatu	, hand, liquid, 250 ml o type , Toilet, regular size ost 60 grams nates at least 99% of bacteria	btls			2,100.00
pump t184Soap,at leaseelimina185Soft Biduty186Specia187Spin M187W/ dura handle 180deg188Staple (1/4")190Staple (1/4")191Staple approx193Stick E approx194Sticky 45x12r © Marki © Marki© Can k signatu	type , Toilet, regular size st 60 grams nates at least 99% of bacteria			150.00	4,800.00
184Soap, at lease elimina185at lease elimina185Soft Biduty186Specia187Spin M w/ dura handle 180deg188Staple (1/4")190Staple (1/4")191Staple (1/4")192Staple 	, Toilet, regular size Ist 60 grams hates at least 99% of bacteria		17	135.00	2,295.00
at leaseelimina185Soft Br duty186Specia187Spin M w/ dura handle187Spin M w/ dura handle188Staple189Staple189Staple191Staple192Staple193Stick E approx194Sticky 	st 60 grams nates at least 99% of bacteria				
elimina185Soft Biduty186Specia186Specia187Spin M187W/ dura handle188Staple189Staple189Staple191Staple192Staple193Stick E approx194Sticky 45x12r195Sticky194Sticky 	nates at least 99% of bacteria	pieces	6	35.00	210.00
185Soft Br duty186Specia186Specia187Spin M w/ dura handle 180deg187Spin M w/ dura handle 180deg188Staple (1/4")189Staple (1/4")190Staple (1/4")191Staple approx192Staple approx193Stick E approx194Sticky 45x12rIST IndexIndex Index IndexIndex IndexIndex Index IndexIndex IndexIndex Index Index IndexIndex IndexIndex Index Index Index Index IndexIndex IndexIndex Index Index Index Index Index Index Index IndexIndex Index Index Index Index Index Index Index Index Index Index Index Index IndexIndex Index Index Index Index Index Index Index In			Ī		
185duty186Special187Spin M187W/ durahandle180deg188Staple189Staple190Staple191Staple192Staple193Stick Eapprox194StickyØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlndexØlnarki					
Spin M w/ dura handle 180deg187Spin M w/ dura handle 180deg188Staple (1/4")189Staple (1/4")190Staple (1/4")191Staple approx192Staple approx193Stick E approx194Sticky (45x12r) ©Sticky©Index ©Marki©Marki ©Can k signatu	Broom (Tambo) 200g minimum, heavy	pcs	11	125.00	1,375.00
Spin M w/ dura handle 180deg187Spin M w/ dura handle 180deg188Staple (1/4")189Staple (1/4")190Staple (1/4")191Staple approx192Staple approx193Stick E approx194Sticky (45x12r)195Sticky (1/4t)194Sticky (1/4t)195Sticky (1/4t)196Sticky (1/4t)197Sticky (1/4t)198Sticky (1/4t)199Sticky (1/4t)194Sticky (1/4t)195Sticky (1/4t)196Sticky (1/4t)197Sticky (1/4t)198Sticky (1/4t)199Sticky (1/4t)194Sticky (1/4t)195Sticky (1/4t)196Sticky (1/4t)197Sticky (1/4t)198Sticky (1/4t)199Sticky (1/4t)199Sticky (1/4t)199Sticky (1/4t)199Sticky (1/4t)199Sticky (1/4t)199Sticky (1/4t)199Sticky (1/4t)190Sticky (1/4t)191Sticky (1/4t)192Sticky (1/4t)193Sticky (1/4t)194Sticky (1/4t)195Sticky (1/4t)195Sticky (1/4t)196Sticky (1/4t)197Sticky<	ial Haspi - Green -	meters	300	120.00	36,000.00
189Staple (1/4")190Staple191Staple192Staple193Stick E approx194Sticky 45x12r0Sticky0Index0Marki0Repo0One e signatu	Mop, w/ stainless steel wringer bucket, irable & ergonomical PP plastic mop le, 360deg. spin microfiber mop head, eg. flexible mop pole	pcs	1	1,500.00	1,500.00
189(1/4")190Staple191Staple192Staple193Stick Eapprox194Sticky45x12r©Sticky©Index©Highli©Marki©Can bsignatu	e wire remover	pieces	3	40.00	120.00
191Stapler192Stapler193Stick Eapprox194Sticky45x12r©Sticky©Index©Highli©Marki©Cne e©Can ksignatu	e Wire No. 35-5M Leg Length 6mm	boxes	10	80.00	800.00
192Stapler193Stick E193Sticky194Sticky45x12r©Sticky©Index©Highli©Marki©Repo©One e©Can ksignatu	e Wire, #35	boxes	49	30.00	1,470.00
193Stick E approx194Sticky 45x12r0Sticky0Sticky0Sticky0Index0Marki0Marki0Repo0One e signatu	er, HD No.35	рс	4	350.00	1,400.00
193 approx 194 Sticky 194 Sticky 0 Sticky 0 Sticky 0 Index 0 Highli 0 Repo 0 One e 0 Can k signatu	er, HD-# 10	pieces	11	100.00	1,100.00
194 45x12r Sticky Index Highli Marki Repo One e Can t signatu Signatu	Broom (tingting) 6" from the top, ox 370 pcs	piece	18	40.00	720.00
Index I	y Flags, Repositionable Indexing Tab, 2mm, (20 sheets x 5 colors)/pack	pack	14	40.00	560.00
BHighli BMarki BRepo BOne e BCan k signatu	ky Flags Suitable For/As:				
Marki	exing Tab				
Marki	nlighting		Ī		
■Repo ■One e ■Can b signatu	king		Ī		
■Can b signatu	ositionable				
signatu	end straight-cut, One end arrow-shaped				
-	be used to show/indicate where to attach ture				
	y Note, 2 x 3, Yellow	pads	13	79.00	1,027.00
196 Sticky	y Note, 3 x 3, Yellow	pads	8	84.00	672.00
	y Note, 3 x 4, Yellow	pade	3	140.00	420.00
	Dispenser, 1" tape, big core, any color	pcs	3	115.00	345.00
		rolls	36	35.00	1,260.00
	, Double Sided, 1" x 10m	rolls	5	70.00	350.00
	, Double Sided, 1" x 10m , Double Sided, 2" x 10m	rolls	41	48.00	1,968.00
	, Double Sided, 2" x 10m	rolls	5	25.00	125.00
	, Double Sided, 2" x 10m , Masking, 1" x 25 yards	rolls	15	95.00	1,425.00
	, Double Sided, 2" x 10m , Masking, 1" x 25 yards , Masking, 1/2" x 25 yards	rolls	24	55.00	1,320.00
	, Double Sided, 2" x 10m , Masking, 1" x 25 yards , Masking, 1/2" x 25 yards , Masking, 2" x 25 yards	1015			550.00
206 Thumb	, Double Sided, 2" x 10m , Masking, 1" x 25 yards , Masking, 1/2" x 25 yards	rolls	10	55.00	



207	Tape, Transparent, 12mm x 50m	rolls	5	68.00	340.00
208	Tissue, Bathroom, 2 Ply, 12rolls/pack	pack	65	204.00	13,260.00
209	Toilet Bowl and Urinal Cleaner, at least 500mL	btls	2	125.00	250.00
210	Toilet Bowl Cleaner, at least 1 gallon	gal	6	395.00	2,370.00
211	Toilet Bowl Cleaner, at least 500ml	btl	5	180.00	900.00
212	Toilet Brush with Holder	set	5	180.00	900.00
213	Trash Bag (Garbage Bag), X-Large (18.5x18.5x40 inches), 10pcs/pack, Black	pack	2	85.00	170.00
214	USB 3.0 Hub 7 port	рс	1	500.00	500.00
	Seven downstream USB 3.0 ports accessible from one side of the hub, with support for up to 5Gbps				
	Universal, multi-platform compatibility, with no additional drivers required				
	Plug-and-Play and Hot-Swap compatible				
215	Wall Clock	рс	2	800.00	1,600.00
	■Diameter: 215 mm				
	■Weight: 250 g				
	Depth: 40 mm				
	Display: Analog				
	Battery Type: AA				
	Case Material: Plastic				
	■Shatterproof				
216	Water Color, at least 16 colors , AP certified non-toxic, w/ mixing tray and brush	sets	5	712.00	3,560.00
217	Wax Paper, at least 23m x 30cm	rolls	5	240.00	1,200.00
218	Wax, Floor, paste type, red, at least 450g/can	cans	10	175.00	1,750.00
219	Wet and dry vacuum cleaner	рс	1	5,000.00	5,000.00
220	Whiteboard, Wall Mount, 2' x 3', w/ aluminum frame	pcs	10	880.00	8,800.00
221	Whiteboard, Wall Mount, 3' x 4', w/ aluminum frame	pcs	2	1,680.00	3,360.00
222	Wood Blocks, small (1.25") size	рс	70	25.00	1,750.00
	Rebidding (from GOODS-22-03)				
223	3D Embossing Label Maker Tape	rolls	25	40.00	1,000.00
	■9 mm x 3 m				
224	Absorbent Cotton	packs	4	300.00	1,200.00
225	 Absorbent Cotton, 400 g; Air Purifier Large Room, 600 Sq Ft, 2021 Upgraded, True HEPA Filter, Active Charcoal, Ultraviolet Li 	pcs	1	10,000.00	10,000.00
	Color: White				
	item dimension: 14x7x18 inches				
	Power source: AC				
	Control method: remote				
	About the item:				
	■About the term. ■ High-Efficiency Air Purifier: air purifier covers				
	an area of up to 1420 ft²/ 132 m ² in 1 hour, CADR 330m³/h. 600 ft² fast purification in 25 minutes. Perfect for large / medium rooms and offices.				



	▲Allergies Eliminator & Ideal for Babies: Pre- filter, True HEPA filter, activated carbon filter trap 99.97% airborne pollutants such as allergens, dust, pet hair, dander, pollens, smoke, odors, fumes, VOCs, ozone, formaldehyde. Protect your family, children from air pollution, create a healthy workplace environment.				
	■UV & Ionizer: UV light removes the hidden germs and viruses in the air such as influenza, staph. Ionic generator emits negative ions, providing you with clean and healthy air.				
	✓ Versatile Air Freshener for Home: This air purifier has a built-in air sensor, which monitors air quality detecting contaminants in the air, and changes the indicator light. 1/2/4/8h timer, filter lifetime counter, sleep mode, 4 fan speed levels.				
	◄ Ultra-Quiet & Energy-Saving: Thanks to the sleep mode, 28 dB low noise level voiceless air cleaning won't disturb you while reading, working, or sleeping. Running in sleep mode (19W) and low fan speed (36W) makes energy- saving and affordable for all-day use.				
226	Alcohol, Isoprophyl, 90% solution	gallon	15	600.00	9,000.00
	Alcohol 90% solution				
227	Bathroom Deodorizer, with holder, at least 100g, any scent	pcs	140	75.00	10,500.00
228	Cartolina, Vellum, Gold, at least 180gsm	pcs	5	35.00	175.00
229	Cartolina, Vellum, Green, at least 180gsm	pcs	5	35.00	175.00
230	Cartolina, Vellum, White, at least 180gsm	pcs	525	35.00	18,375.00
231	Chlorine Granules, 1kg/pack	packs	17	185.00	3,145.00
232	Class Record, (for College use)	pcs	50	40.00	2,000.00
233	Coffee Maker	рс	1	1,200.00	1,200.00
	■8-10 Cups Black				
	Auto-drip Coffee Maker				
	■8-10 Cups Capacity				
	Thermo-glass Carafe				
	Reusable/Washable Filter				
	Water Level Indicator				
	Keepwarm Heating Plate				
	Pilot Light Indicator				
	■680 Watts				
234	Columnar Pad, 8 columns (11 x 14)	pcs	24	56.00	1,344.00
235	Cork Board, Wall Mount, w/ aluminum frame, 4' x 6'	pcs	1	2,860.00	2,860.00
236	Cork Board, Wall Mount, w/ aluminum frame, 4' x 8'	pcs	1	3,670.00	3,670.00
237	Correction Pen, rolling ball-metal tip	рс	9	220.00	1,980.00
238	Cutting Mat, self-healing rubber, green, A3	рс	2	700.00	1,400.00
239	Date stamp, 10 years advance or more	pcs	2	195.00	390.00
240	Dishwashing Liquid Soap, Refill 350ml	pack	47	120.00	5,640.00
	Concentrated Dishwashing Liquid Antibac with Power of Safeguard, 350ml				
	Disinfectant Spray, 170g				





	Dust Bin (Trash Bin), durable plastic, w/				
242	cover, wheels and lock, approx. 80L capacity	pcs	8	960.00	7,680.00
243	Exhaust Fan (Industrial wall exhaust fan, 12")	unit	2	1,600.00	3,200.00
244	Floor Mop	pieces	7	250.00	1,750.00
	Image: Image is a set of the s	p.0000	•	200.00	1,100100
245	Foil, Aluminum, 16m x 30cm (approx. 260g)	boxes	7	290.00	2,030.00
246	Glue, White, All-purpose, 1 gallon	gallons	3	510.00	1,530.00
247	Hand Towel, Interfolded, 2 ply, 150 pulls	packs	12	125.00	1,500.00
248	High Quality Electric Stainless Steel Grinding Coffee Bean Milling Machine Electric Grinder	рс	1	298.00	298.00
249	HP, Laserjet Toner Cartridge, CF401A, Cyan	рс	1	5,000.00	5,000.00
250	Index Tab, PVC self adhesive 6" x 1", 25pcs/box	set	24	78.00	1,872.00
251	Index Tab, transparent, self-adhesive, transparent, 5sets/box	boxes	50	65.00	3,250.00
252	Magazine Box / Data File Box / Datafiler, horizontal, made of chipboards, closed ends, Legal (Double)	pcs	146	195.00	28,470.00
253	Magazine Box / Data File Box / Datafiler, horizontal, made of chipboards, closed ends, Legal (Single)	pcs	144	100.00	14,400.00
254	Mop Handle, Plastic	pieces	3	145.00	435.00
255	Net bags, fish net, 13" x 13"	рс	100	19.00	1,900.00
256	Note Pad, 4" x 5", post-it, assorted colors	pads	5	40.00	200.00
257	Notebook (Dot, lines, Blank, Grid) 4 design	pcs	10	110.00	1,100.00
	■ size:133*194mm				
	■80 sheets				
258	Nylon, #300, for grass cutter	kl	23	450.00	10,350.00
259	Paper Cutter, Sliding, for A3, with metal base, replaceable blades	unit	1	2,550.00	2,550.00
260	Paper Cutter, wood, A4 size	piece	2	625.00	1,250.00
261	Paper, Haspi, maroon, 20" x 26"	pieces	5	80.00	400.00
262	Paper, Mimeo, GW, A4, S-18	reams	50	150.00	7,500.00
263	Pen, Sign, .5mm, Gel-type, Black	piece	94	35.00	3,290.00
264	Pen, Sign, .5mm, Gel-type, Blue	piece	610	35.00	21,350.00
265	Pen, Sign, .5mm, Gel-type, Red	piece	155	35.00	5,425.00
266	Pin, Map, round head, asstd. Color	boxes	13	35.00	455.00
267	Plastic bag (sando bag), jumbo size, 100 pcs/pack	pack	15	135.00	2,025.00
268	Plastic Pail, 10L capacity	рс	2	35.00	70.00
269	Ring Binder, plastic, 14mm, 9/16" black	pieces	31	15.00	465.00
270	Rubber Mat	meter	17	175.00	2,975.00
	■Material: PVC				
	■Size (W x L): 30 x 150 cm or 11.81 x 59.05 inches				
	■One (1) roll non-slip mat				
271	Sign pen, 0.5mm ball needle point, Blue color, Liquid Gel Ink	pieces	49	90.00	4,410.00
272	Soap, Dishwashing Liquid Refill, 375ml	packs	16	150.00	2,400.00
	Antibacterial Concentrate Dishwashing Liquid				
273	Specialty paper Dynamics 8-1/2x13 220gsm Pearl	packs	5	85.00	425.00



274	Specialty Paper Dynamics 8-1/2x13 220gsm Skytone	packs	3	85.00	255.00
275	Stamping foil, Gold	roll	12	900.00	10,800.00
276	Stapler Flat clinch Standard Half strip	piece	4	700.00	2,800.00
	SPECIFICATIONS				
	- Product name: HD-50F				
	- Staples:24/6(No.3), 26/6(No.35)				
	 Stapling capacity:30 sheets(64gsm) / 24 sheets(80gsm) 				
	- Loading capacity:50 staples(24/6), 100 staples(26/6)				
	- Dimensions: W40 x D135 x H60(mm)				
	- Weight(Net): 270g				
	- Insertion depth: 47mm				
	- Carton Quantity:1/5/50				
	- Product Color: Black or Dark Blue				
	- Built-in staple remover.				
	FEATURES				
	Flat Clinch				
	Enable to bend the staple ends flat without deforming the clinched staple. Papers stack neatly and evenly.				
	Ergonomic design				
	Comfortable rubber surface is a perfect fit for any gripping style.				
277	Steno Pads (Various colors)	pcs	13	170.00	2,210.00
	• *80 GSM * 8" X 6"	- p00	10	170.00	2,210.00
	a *200 PAGES- FRONT & BACK (100 SHEETS)				
	Ideal for jotting down quick notes and stenography on the spot.				
	*Provides quality material for collegiate, legal, journalistic, and business environments, when transcribing lectures and meetings.				
	*The size is optimal for writing either handheld or on a desk with maximized space efficiency				
278	Sticky Flags, Repositionable Indexing Tab, 45x12mm, (20 sheets x 5 colors)/pack	pack	53	40.00	2,120.00
	Sticky Flags Suitable For/As:				
	Indexing Tab				
	BHighlighting				
	Marking				
	Repositionable				
	One end straight-cut, One end arrow-shaped				
	Can be used to show/indicate where to attach signature				
279	Tape, Magic, 12mm x 50m	rolls	8	196.00	1,568.00
280	Transparency Film, A4, 100pcs/pack	pack	11	372.00	4,092.00
281	Trash bins (with color coded cover) 55L (blue)	piece	1	1,400.00	1,400.00
282	Trash bins (with color coded cover) 55L (green)	piece	1	1,400.00	1,400.00
283	Trash bins (with color coded cover) 55L (yellow)	piece	1	1,400.00	1,400.00
284	Wall Clock	рс	1	800.00	800.00



	■Diameter: 215 mm				
	■Weight: 250 g				
	■Depth: 40 mm				
	■Display: Analog				
	■Battery Type: AA				
	Case Material: Plastic				
	■Shatterproof				
285	Pie Box	packs	10	250.00	2,500.00
	Pre-Formed Pie Box				
	Packing: 20 pcs/pack				
	■Size: 10" x 10" x 1½"				
	Color: White				
	Rebidding (from GOODS-22-08)				
286	Absorbent Cotton Roll 400g-delete				
287	Alcohol, Ethyl (70%), 1liter	btls	6	130.00	780.00
				TOTAL:	867,908.00

Sgd. DILBERTO O. FERRAREN BAC Chairman